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Time Yo give hose brai

Mr Lam spends 2 hours to travel to work every day.
How many hours does he travel in 15 days? Publisher: EPH

Ans:
Nancy bought 7 boxes of chocolates. COMPLETE MATHS
Each box had 85 chocolates. TOPICAL TESTS
How many chocolates were there altogether? Primary 3

Ans:
9 basketballs cost $216.
How much does each basketball cost?

Ans:

Steven bought 7 packets of cookies.
Each packet contained 80 cookies.

He repacked the cookies into bags of 5.

Scan the QR code for
the Answer Sheet.

How many bags of cookies would he get?
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5. There were 7 boxes of lollipops. Each box contained 8 lollipops.

Time to give Hhose bran

Andrew gave away 5 lollipops. How many lollipops were left?

Ans:

6. Shop A sold 256 cakes.
Shop B sold three times more cakes than Shop A.
(@ How many cakes did Shop B sell?
(b) How many cakes did the two shops sell altogether?

Ans: (a)

(b)

7. John has twice as many stamps as Larry.
Mark had 3 times as many stamps as John.
They had 1692 stamps altogether.
How many more stamps did Mark have than John?

AnNs:

8. Nancy earned $3500 a month.

She gave $1200 to her parents, spent $1300 and then save half of her remaining money.
How much would she save in 6 months?
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